1-083

LS-DY NA(Ver.950)

RC

RC

X X

x 250x 2,400 mm

150

r 1) 1,407 mm

TR IR
B5ESkES D13
R&—F 7 Db

¢

LU U1 ST . 1)

57 14 9

RC

RC

M=300kg, @ =200

I ) =
(OO A (07

R1
200 1

2000

40/ |7

2400

R2 > Mﬁ L—ﬂ 0 T2
150 (mm)

RC

k ¢ 200 ]

# 200

$ 200

[ | [ ]
o 8 o 2 o 2
;CS 2) 90 mm ;CM = = =
150 b g
3) 30 mm :CL B STUE
# 150 (mm)
RC
V=4,5mls
Vuse (KN) Vusc (KN) a V (m/s)
CS4,5
CM-4,5 137.4 38.2 3.6 4 5
3 CL-4,5
RC o (MPa) | Ec(GPa) V.
36 41.4 23.1 0.23
1/4
o s (MPa) Es (GPa) V s
D13 SD345 373
2 )
D6 SD295A 368 06 03
RC
RC
050-8585 27-1 TEL 0143-46-5226 FAX 0143-46-5227

-165-




1-083 57 14 9

————— F.EM
4' —— EXPERIMENT
950 200 . ‘ 40 7=
475} = 100 A —_
B e g TN g 2
1,500 v 0 i 0 | kS| E 0 o
o 475 © —100 o 20
350 g 150 a0 -
S s E 75 N - VA
NI T S T 1) i T
3 il 2 o 8 ™
§ sl ——| Mg s £ 9
E 200 & 100 - & a0
w0l — s0|- lf\/“’\“*\ 2 ]
0 - | 0 % 0 [
005525 30 3B a0 S0 30 35 a0 2030 20 o0 8 100
Time (ms) Time (ms) Time (ms)
f'e (@ (b) (©
1/10 ( = 0.1 f'¢ ) (V = 4m/s)
Contour
tevetl
HI 1.00
0.50
O-S ES V S 0.10
0.01
-0.01
H' ES 1% -0.10
-0.50
-1.00
(MPa)
5.
V=4m/s P
R D
(@ P
(b) R
(c) D
RC RC RC
(C)
(CM) (CL)
6.

RC

RC

-166-



